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M.Sc. (Two Year Course)-Nuclear Medicine/A

1. A radionuclide with a 2 hour effective halflife and a 6 hour physical halflife has a biological
half life of how many hours ?
(A) 3 (B) 4
(C) 5 (D) 6
2. The occupational dose limit expressed as mSv for the fetus of a pregnant radiation worker
is :
(A) 5 (B) 10
(C) 15 (T¥) 20
1. Perchlorate discharge test in case of thyvroid is useful in the assessment of :
(A) Hyperthyrondism (B) Todine deficient goitre
(C) Organificarion defect (D) Acute thyroihizs
4. The gastric empiving time of solid meal in normal person is 3
(A) 45-60 min (B) 60-73min
(C) 75-90min (1 90-105 min
5.  How much % of cardiac output is received by kidneys 7
(A) 15 (B) 25
(C) 30 (D) 45
6. The lactoferrin is produced by :
{A) Spermatogoma {B) Reticulocytes
{C) Amebocytes (D) Neutrophils
7. Which of the following has a higher frequency 7
{A) FM rays : (B) [Rrays
{(C) UV rays ) (D) Betarays
8. Which of the following requires an injection of radionuclide for imaging ?
(A) PET (B) Ulimsound
{C) CT (1) X-rays
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10.

L1.

12.

13.

14. What is the ratio of gray to white matter uptake with “I-IMP ?

15.

16.
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Which of the following is produced when there is a fall in blood pressore 7
(A) TSH {B) Prolactin
(C) Renm (D} Relaxin

Cardiac stress is indaced by :
(A) Methionine (B) Cytosine
(C) Adenosine (D) Guanine

What is released from the nucleus during electron capture decay ?

(A) BetaParticle {B) Proton

(C) Neutron (D)} MNeutrmno

Thymidine 'H is composed of :

(M) Base {(B) Bascand Sugar

(C) Basc and Phosphate (1)) Baseand Phosphate and Sugar

What % of ""Tc labelled diphosphonate localizes in bone 7
(A)y 30 (B) 40
(C) 50 (D) 60

{A) 3-4% (B) 5-6%
(C) 7-3% (D) 9-109%

Which of the following is not an immunodeficient strain ?
(A) BAIR/ (B) RAG
(C) SCID (D)} NOD

Produetion of transgenic animals require transfections of :
{A) Glial Cells (B) GermCells
{C) Embroys (D)} Bone Mamow Cells
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17. Dolly the first mammalian clone was born in which year *
(A) 1993 (B) 1994
(C) 1995 (D) 1996

18. Which of the following does not use Fourier Transformation
{A) PET (B) PET-CT

{C) MRI (DY) Rectilinear Scanner

19. Blood coagulation requires which of the following ?
(A) Zinc (B) Selenium
{C) Polassium ([}  Calcum

. The expression of effective dose equivalent is :
(A) Sievert {B) Rad
(C) Roentgen (D) QF

21. Nuclear medicine imaging requires which of the following ?
(A) Flectrons (B) X-Rays

(C) BetaRays (D) Gamma Rays

22, One Gray as expressed in J'kg, is equal to

(&), 0.1 ®) 19
{(C)y 10 (D) 100

23, Principal gamma ray energy of *'Cris :
{A) 320ev (B) 320 Kev
(C) 320 Mev (D) 320 Gey

24. Physical half life of ™=Te :
(A) 2Hours (B) 4 Hours
(C) 6Hodrs (D) E Hours

25. The unit of exposure is :
(A) Roentgen (B) Sicvert
(C) Gray (LY} RBE
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27.

28.

29.

30.

31.

32.
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During DNA replication, bonds are broken between :
(A) Phosphate groups (B) Nitrogen Bases
(C) Sugarand Phosphate (D) Pentose Sugars

Sprain is caused due (o gxcessive pulling of :
{A) Nerves {B) Tendons
(C) Ligaments (D) Muscles

Which of the following vitamins is required for the production of erythrocytes T
(A) B-12 (B) A
(C) K (D) E

2P is an emitter of which of the following radiations 7
(A) Bet (B) Alpha
(C) Gamma (I7) Posimons

Siunit of rad.inac;ii-'it}' is:
(a) G (B) Bq -

(CC) Roentgen D) Rad

Width of DNA molecule in A nearly is

(A) 5 (@) 10

(C) 15 () 20

Which of the fellowing injected radionuclide can be used for pain palliation in bone
metastasis 7

(A 1 (B) *'Cs

(C) "'Sm (D} 51

The worn out red blood cells are sto red in :
{A) BoneMamow (B Myocyies
(C) Spleen (D) Liver
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14. GI bleeding scintigraphy with eTo-red blood cells delivers dose to whole hody in mGy :
(A) 0.004 (B) 004
(C) 04 (D) 4
45, What is the approximate biological half of ™ Tcin the blood 7
(A) 15min (18} 30 min
(C) 45mmn ° (D) 60 pun
16, The Pwave of electrocardiogram is associated with :
(A) Contraction ofAtria (B) Contraction of ventricles
(C) Depolarization of atnial musclar tsste (I Repolarization of SA node
37. The level of thyroxine in 100 ml of hlood :
{A) 4-10 pgm (B) 4-10ngm
(C) 410ug (T 4-10mg
18. The elute from a Mo generator is:
(A) sodiun motybdate (B) sodium pertechnatate
(C) ahmmina (D) ahsmmina molybdate
39, Cross section — o measure of probability ofa nuclear reaction is measured in
(A) Microns (B) A
{C) Ev (D} Bam
40. Which phase of cell eycle is most radiosensitive ?
{A) Interphase (B) Metaphase
() Anaphase (D) Telophase
41. Maximum permissible annual dose in mSv from radiation exposure 1o occupational workers
is : s
(A) 50 By 75
(C) 100 (DY 1235
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4. Quaternary structure of proteins is supported by :
{A) Peptided bonds {B) Disulphides linkages
(€} Hydrophobic Interactions (D) Electostatic interactions

43. Which of the following has highest pH ?

(A) Gastric juice (B} Pancreatic juice

(C) Intestinal gland secretions (D) Bile in gall biadder
44. The half life of “Ge in days is :

{A) 71 (B) 171

(<) 271 (D 1271

45. Which one of the following does not change length during musele contraction ?
(A) Aband (B) Iband
(C) Hzone (D) sarcomere

46. How much % of Humans genome is shared with the mouse ?

{A) 70 (B) 80 .
{C) 90 (D) 100

47. Nude mice bave greatly reduced number of ;
(A) Blymphocvies (B} T lymphocytes
(C) Natural killer cells (D) Eosinophils

48. Appropriate energy of gamma rays used in imaging is :
(A) 100-300 ev (B} 100-300 Key
(€) 100-300 Mev (D) 100-300 Gev

49. Physical half life of "F in minutes is :

(A} 0.11 (B) L.1
© 1 (D) 110
50. Which of the following indicates conformation of proteing 7
{A) Circular Dichroism (B) Ascending paper chromatography
(C) Gel Filration (1) Gel Electrophoresiz
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What % of " Te diphosphanate localizes in bone ?
(A) 30 (Ry 40
(C) 50 (D) &0

. What is the dose of "Ga in mCi for tumour localization 7

(A) 1.0 (B) 5
(C) 10 () 15

Which of the following enzymes is required for the organification of iodide ?
(A) Polymerase (B} Peroxidase
(C) Catalase (D) Monoamine Oxidase

Radiocolloids are cleared from the circulation by :

{A) RBCs (B) Hepatocytes
{C) KupfferCells (D) Monocytes

. The proteins that run the fastest in SDA-PAGE are:
{A) Smallin Size (B) Largein Size

{C) Negatively Charged (D) Positively Charged

The regions of DNA in a cukaryotic gene that encode for 2 polypeptide are called :

(A) Enhancers (B} Introns

(C) Exons (D)) Leader Sequence

Micro array analysis is used :

{A) Toidentify new genes (B) Tocheck the quality of gene expression

{C) Tomeasure copy number (M Toquantify gene expression

Which of the following is involved to study the atomic structure of proteins using X-ray

erystallography

(A) Electrons (B) Protons

(C) Neutrons (D} Nucleons

Which of the following procedures is not used to characterize DNA molecule ?
(A) Light scattering (B) Viscometry

(C)} X-Ray fluorescsnce (D) BireFi
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60. Vibration property of molecules is assessed by
{A) SEM (R} TEM
(C) IR Spectroscopy (D) HPLC

61. Northern Blotting is used for the separation of :
(A) Protein (B) DNA
(C) Plasmids (17) mENA

62, The enzyme reponsible for continuing DNA replication in prokaryotes, once itis intiated :

(A) DNAGyrase (B DNA Polymerase I
(C) DNA Polymerase [Tl (D) Polvmerase Beta
63. The anisotropy of the steady state lluorescence emission depends on :
(A} Volume of the sample used (B} Volumeof the flourescent dyc
{C) Coneentration ofthe fluorescent dye (D) Concentration of the fluorescent dye and sample

64, Genetically modified DNA fragments are called :
| {A) Mitochondrial DNA (B) Ribosomal DNA
(C) Recombinant DNA (D) STDNA

65. Standard deviation is the square of :
(A) Vanance (B} Mode
(C) Standard Error (D) Median

66. Which of the following leukocytes are expressed more in hypersensitivity reactions 7
(A) Neutrophils (B) Eosinophils
(C) Monocyles (13) Lymphocytes

67. Red Blood cells appear normal in ;
(A) Tsotonic solution (B} Hypertonic solution
(C) Hypotonic solution (D) Hyperosmotic solhution

68. Testosterone is secreted by :
(A) Spermatocyte (B) Leydigcells
(C) Both (A)and (B) {0} Spermatogonium
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The number of oxygen molecules carried by one Hem oglobin molecule is :

(A) 1
e 3

{B)
()

Gamma rays differ from X-rays on the basis of :

(A) Mass
(C) Mass and Charge both

The radioactivity was discovered by :
(A) Cune
(C) Bacquerel

Which of the following is weakest 7
(A) lonic
() Hydrogen

One Bacguerel is @
{(A) 27.03 Picocurie
(C) 27.03 Microcune

One rad is egual to the absorption of :
(A) 0.1 Gy
(C) 1Gy

. MCisac

(A) Betacmitter
(C) Alphaemitter

(®)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(1)

(B}
(12}

2
4

Charge
Origin

Covalent
Van der Waal

27.03 Wanocuns
2705 Millicurie

0.01 Gy
10 Gy

Gamma emitter

Both Gamma and Beta emiticr
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